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| Define matrix.]
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[What do you mean by symmetric determinant?]
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|Give an example of row echelon matrix.|
1 2 -3 0
%‘m:{o 5 2 0}
00 7
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|Define linear equation.|
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|Write down the formula to find the distance between two vectors in
R"]
W:d(u, v)=‘\f|u]—v1|3+|ug—vg[2+0 ...... +|u,.—v,,|2
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[Give an example of subspace of V]
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Taq : W, ={(x,y,z)8x=0}.
(2) GCHE T ooives S I
[What is the dimension of column space of a matrix?]

Teq : @ Wk W wived fofen W (39 TRANE WGeHT
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[What is called nullity of linear transformation?|
TG : T: V(F) - U(F) Q@M AR ST, KerT = {ve V(F): T(v)
=0 e U(F) 93 @ Fifafs 9 |
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[When a linear transformation is called isomorphic?]
B : T T(w) + T(w) = Tu + v) T IR T(x ) = o T(w) I @R
AT AT T |
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|What is called characteristics matrix?]
TE: AR nFo@ A MEF IR AL c FTTLSn-A F A G
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|Define eigen vector of a square matrix.|
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[What do you mean by linear combination of vectors?|
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T ¢f6 &vea Ted wne- 0 X ¢ =3¢
1 -3 2
Y -2 2 0 |wihEtses  faes)
-6 9 -3
1 -3 2
[Find the rank of the matrix| -2 2 0 |.]
-6 9 -3
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[Show that, every skew-symmetric determinant of even order is a perfect
square. |

o 4 @, GG T'={(a, b, ¢,d) € V': 2a-3b+ 5c— d=0} &3> V*
TGS |

[Prove that, the set 7= {(a, b, c, d) € v 2a-3b+5¢c-d=0}isa
subspace of V* ]

THHF A @ Ay, A, IR A; TEATETR @S TR 4 59
(nﬁww);mﬂmﬂu{z 1],A.=[l 1],&:[;_1]] R

3=

[Express (if possible) the matrix A as a linear combination of the matrices
21 11 11

Ay, As and A; where A = VA = A= and A;
-12 -10 0 -1

_[ 1 -1 ]

“Lo o !

e @, (577 &S V° 07 @6 &= {(1,2, 1), (2, 1,0), (1,-1,2)}.

Facebook — Pi Math Club

[Show that, {(1, 2, 1), (2, 1, 0), (1, -1, 2)}. is a generator of a vectar space
V]

al {(2,0,1),(1, 1, 1)) CBBEE vV’ (537 Triced qaft fSfars 3fds w4
[Extend the set {(2,0, 1), (1, 1, 1)} to a basis of V*.]
b1 I T V(F) > UF) 93T @ a Foifed =0, ©9 a8 @&, Ker T
@5 V(F) 9F BorerTs |
[If T : V(F) - U(F) be a linear mapping then show that, Ker T is a
subspace of V(F).]
2 2 -1 0 1
-1 -1 2 -3 1
51 AWGEGT @ e werer ey 9, @A, A= a0
0 0 1 1 1
[Find the rank and nullity for the matrix A, where A =
2 2 -1 0 1
-1 -1 2 -3 1
11 =20 -1 1
0 0o 1 1 1
si-Rert
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ol AMu=(i, 1-i,i-3) 9R v=(2,3 +i,- i) =, TQ d(u,v) u-v IR || v —
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[Ifu=(i, 1-1i,i-3)and v=(2, 3 + i, — i) then find d(u,v) u-v and || v -
ull]

K-97 @5l T g 9, @ i aaers sieaeeme g
(i) FTLIT (71=2; (i) GPNLE A AMF G2

Xx-3z=-3
(iii) I ANAN AUTF : 2x + ky —z=-2
x+2y+kz=1
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[Determine the values of K such that the following system of linear 1 12
equations has (i) no solution, (ii) more than one solution and (iii) a unique sal A=| 0 22 |syGee oo SEeW W 8 AT SReH m

X-3z=-3
solution : 2x+Kky —z=-2 -113

x+2y+kz=1 i ==
[Find all the eigen values and associated eigen vectors of the matrix A =
1 TG e fafRe gvers TRwaccarss T 39 : L12
3x-y+35z=1,2y-4z=2 6x-y+3z=0. 0221
[Solve the following linear equations by matrix method : 113

3x—-y+5z=12y-4z=2,6x-y+32=0]
yo | e were fagred weTwer Sereimy 39T @ et

[State and prove Tringle inequality theorem in Euclidean's space.]

31 S @A, T: VP VP 4 e fB@dt T (x,y, 2) = (3x + 2y — 4z, x — Sy +
3z) QTR @k T2F FET el =91
[Show that, the mapping T : V' — V° is defined by T (x, y, z) = (3x + 2y —
4z, x — 5y + 3z) is linear and find its Kernel.]

se | M V-G qIB BTG S, = {(x,y, 2, 1)y +z+t=0} € S, = {(x, ¥, 2,
):x+y+ =0,z=2t) &, SES,,S,98,nS, 99 &fe a W fadfy
Bl
S ={xvy,zt):y+z+t=0}and S;={(x,y,z, t) i x+y+ =0,z=
2t} be subspaces of V* then find the basis and dimension of S, S; and S,
N S,.]

S | T @R RN T VP> VAT (x,y,2) = (2x +y - z; 3x - 2y + 42)
TR SRGIAS 77, W {(1, 1, 1), (1, 1, 0), (1, 0,0)} 9= ({(1, 3), (1, 4)}
fofea cafirrs -z wnfliw fda =0

[If the linear transformation T : vV} 5 V2 is defined by T(x,y,z)=(2x +
y — z; 3x — 2y + 4z) then find the matrix of T relative to the basis of {(1,
1,1),(1,1,0),(1,0,0)} and ({(1, 3), (1, 4)} ]
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